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Part A

1. What is the value of Van't Hoff's factor (i) for ?

Watch Video Solution

K2SO4

2. 10 mL of liquid 'A' is mixed with 10 mL of liquid 'B', the volume of

the resultant solution is 19.9 ml. What type of deviation expected

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oBd7oR3wH4s4
https://dl.doubtnut.com/l/_GO4k3MQnekqC


from Raoult's law ?

Watch Video Solution

3. What is secondary cell?

Watch Video Solution

4. Identify the order of the reaction from the rate constant

Watch Video Solution

K = 2.3 × 10− 6L  mol − 1s − 1

5. Give reason: Zeolites are good shape-selective catalyst.

Watch Video Solution

https://dl.doubtnut.com/l/_GO4k3MQnekqC
https://dl.doubtnut.com/l/_18S1N34lzrtW
https://dl.doubtnut.com/l/_WN7QYPP3crID
https://dl.doubtnut.com/l/_qIBYftHYInN7
https://dl.doubtnut.com/l/_7iw9Al1bl3PO


6. Iron scraps are advisable and advantageous than zinc scraps for

reducing the low grade copper ores. Why?

Watch Video Solution

7. Complete the following equations. 

Watch Video Solution

XeF6 + H2O → ……. . + 2HF

8. Give reason. In case of optically active alkyl halides, SN1 reactions

are accompanied by racemisation

Watch Video Solution

https://dl.doubtnut.com/l/_7iw9Al1bl3PO
https://dl.doubtnut.com/l/_EYIevlXqbf0s
https://dl.doubtnut.com/l/_J3WzjQXMeTbO


9. Identify 'A' in the reaction : 

Watch Video Solution

10. Give an example for water soluble vitamin.

Watch Video Solution

11. What is the value of Van't Hoff's factor (i) for ?

Watch Video Solution

K2SO4

12. 10 mL of liquid 'A' is mixed with 10 mL of liquid 'B', the volume of

the resultant solution is 19.9 ml. What type of deviation expected

https://dl.doubtnut.com/l/_7u0JXm2cwP4Q
https://dl.doubtnut.com/l/_XaaaZZyJRwOG
https://dl.doubtnut.com/l/_1YLkXdhNl1qL
https://dl.doubtnut.com/l/_oJD5eR6zruho


from Raoult's law ?

Watch Video Solution

13. What is secondary cell?

Watch Video Solution

14. Identify the order of the reaction from the rate constant

Watch Video Solution

K = 2.3 × 10− 6L  mol − 1s − 1

15. Give reason: Zeolites are good shape-selective catalyst.

Watch Video Solution

https://dl.doubtnut.com/l/_oJD5eR6zruho
https://dl.doubtnut.com/l/_xofC4aNcE7c1
https://dl.doubtnut.com/l/_VrMToqRVdKZ1
https://dl.doubtnut.com/l/_Y9qZA7smSrVd
https://dl.doubtnut.com/l/_USFBQWHLdsW0


16. Iron scraps are advisable and advantageous than zinc scraps for

reducing the low grade copper ores. Why?

Watch Video Solution

17. Complete the reaction: 

Watch Video Solution

XeF6 + H2O → ?………… + 2HF

18. Give reason. In case of optically active alkyl halides, SN1 reactions

are accompanied by racemisation

Watch Video Solution

https://dl.doubtnut.com/l/_USFBQWHLdsW0
https://dl.doubtnut.com/l/_nH03uphzOLPx
https://dl.doubtnut.com/l/_fqPgqIsCephx


Part B

19. Identify "A" in the reaction 

Watch Video Solution

20. Give an example for water soluble vitamin.

Watch Video Solution

1. Calculate the number of particles present per unit cell in a B.C.C

unit cell

Watch Video Solution

https://dl.doubtnut.com/l/_2p2REGeIuIy0
https://dl.doubtnut.com/l/_PX8s9nb2Raju
https://dl.doubtnut.com/l/_fDGfQEETtf9B


Watch Video Solution

2. A solution of  is electrolysed between platinum

electrodes using a current of 5 amperes for 20 minutes. What mass

of nickel is deposited at the cathode?[molar mass of Ni

]

Watch Video Solution

Ni(NO3)2

= 58.7gma  mol − 1

3. Mention any two factors which influence the rate of the reaction.

Watch Video Solution

4. Give two reasons the chemistry of actinoids is more complicated

than Lanthnoids.

Watch Video Solution

https://dl.doubtnut.com/l/_fDGfQEETtf9B
https://dl.doubtnut.com/l/_64KczGJkhP4o
https://dl.doubtnut.com/l/_hgMJGVuTezmU
https://dl.doubtnut.com/l/_CEQE9PlU2aRB


5. How is phenol prepared from Aniline? Write the equation.

Watch Video Solution

6. Explain cannizzaro's reaction taking benzaldehyde as an example.

Watch Video Solution

7. (a) Give an example for non-narcotic analgesic. 

(b) Why the use of Aspartame is limited to cold foods and soft

drinks ?

Watch Video Solution

8. (a) Why detergents with straight chain of hydrocarbons are

prefered over branched chain hydrocarbons? 

https://dl.doubtnut.com/l/_wi6O8bB6WsJu
https://dl.doubtnut.com/l/_X2oaCDTPKTpl
https://dl.doubtnut.com/l/_PfUTijnjxlFA
https://dl.doubtnut.com/l/_XJoOlc7iW42b


(b) Give one example for detergent with straight chain

hydrocarbon.

Watch Video Solution

9. Calculate the number of particles present per unit cell in a B.C.C

unit cell

Watch Video Solution

10. A solution of  is electrolysed between platinum

electrodes using a current of 5 amperes for 20 minutes. What mass

of nickel is deposited at the cathode?[molar mass of Ni

]

Watch Video Solution

Ni(NO3)2

= 58.7gma  mol − 1

https://dl.doubtnut.com/l/_XJoOlc7iW42b
https://dl.doubtnut.com/l/_pzhMlvdmfdFy
https://dl.doubtnut.com/l/_9d7WQaEJvnGF


11. Mention any two factors which influence the rate of the reaction.

Watch Video Solution

12. Give two reasons the chemistry of actinoids is more complicated

than Lanthnoids.

Watch Video Solution

13. How is phenol prepared from Aniline? Write the equation.

Watch Video Solution

14. Explain cannizzaro's reaction taking benzaldehyde as an

example.

Watch Video Solution

https://dl.doubtnut.com/l/_oBP0B7FF0w5H
https://dl.doubtnut.com/l/_V0spMN92cqPh
https://dl.doubtnut.com/l/_mgfchOJV9AMj
https://dl.doubtnut.com/l/_noLAF11fiwMF


Part C

15. (a) Give an example for non-narcotic analgesic. 

(b) Why the use of Aspartame is limited to cold foods and soft

drinks ?

Watch Video Solution

16. (a) Why detergents with straight chain of hydrocarbons are

prefered over branched chain hydrocarbons? 

(b) Give one example for detergent with straight chain

hydrocarbon.

Watch Video Solution

https://dl.doubtnut.com/l/_noLAF11fiwMF
https://dl.doubtnut.com/l/_OX70cHRCgpkC
https://dl.doubtnut.com/l/_j0VAKzt4pCg7


1. Write the equations for the reactions involved in the leaching of

alumina from bauxite ore.

Watch Video Solution

2. Write any three anamolous properties of nitrogen.

Watch Video Solution

3. In the manufacture of sulphuric acid write : 

(i) The equation with condition for oxidation of  to . 


(ii) Formation of Oleum from .

Watch Video Solution

SO2 SO3

SO3

https://dl.doubtnut.com/l/_wrKB0Ca0aQyc
https://dl.doubtnut.com/l/_3ekJLLeSdBJy
https://dl.doubtnut.com/l/_L3hmwXeJzXgP


4. (a) Complete the following reaction : 

(i)  


(ii)  


(b) Write the structure of perchloric acid .

Watch Video Solution

NH3 + 3Cl2 → ?……… + 3HCl

Cl2 + F2

473K
−−→ ?……

(HClO4)

5. Transition elements show catalytic property. Give two reasons.

Watch Video Solution

6. Write the balanced equations in the manufacture of potassium

dichromate from chromite ore.

Watch Video Solution

https://dl.doubtnut.com/l/_bCgT5EGqAIBG
https://dl.doubtnut.com/l/_gLO3rIVh3IGg
https://dl.doubtnut.com/l/_EWGAtNZUmJqk


7. Using valence bond theory explain geometry, hybridisation and

magnetic property of  (Atomic number of Co = 27).

Watch Video Solution

[CoF6] −
3

8. Indicate the type of Isomerism in the following set of complex

compounds. 

Watch Video Solution

[Co(NH3)5SCN]Cl2 and [Co(NH3)5NCS]Cl2

9. Write the equations for the reactions involved in the leaching of

alumina from bauxite ore.

Watch Video Solution

https://dl.doubtnut.com/l/_1bV3h825rEVt
https://dl.doubtnut.com/l/_nskqYs1eSfSS
https://dl.doubtnut.com/l/_OAoji9ZDWexa


10. Mention any two anomalous properties of nitrogen.

Watch Video Solution

11. In the manufacture of sulphuric acid write : 

(i) The equation with condition for oxidation of  to . 


(ii) Formation of Oleum from .

Watch Video Solution

SO2 SO3

SO3

12. (a) Complete the following reaction : 

(i)  


(ii)  


(b) Write the structure of perchloric acid .

Watch Video Solution

NH3 + 3Cl2 → ?……… + 3HCl

Cl2 + F2

473K
−−→ ?……

(HClO4)

https://dl.doubtnut.com/l/_uugC7ZmJDzBK
https://dl.doubtnut.com/l/_jbeILk9RziI4
https://dl.doubtnut.com/l/_vkAxxqZYY6Bp
https://dl.doubtnut.com/l/_7VGSwJUhSCm3


13. Transition elements show catalytic property. Give two reasons.

Watch Video Solution

14. Explain the manufacture of Potassium dichromate from

chromite ore.

Watch Video Solution

15. Using valence bond theory explain geometry, hybridisation and

magnetic property of  (Atomic number of Co = 27).

Watch Video Solution

[CoF6] −
3

16. Write any two postulates of Werner's theory of co-ordination

compounds.

https://dl.doubtnut.com/l/_7VGSwJUhSCm3
https://dl.doubtnut.com/l/_Elr1kemFGWsL
https://dl.doubtnut.com/l/_JHklF8UiW9uk
https://dl.doubtnut.com/l/_tu2X4SFc7zik


Part D

Watch Video Solution

1. Calcium metal crystallises in a face centered cubic lattice with

edge length of 0.556nm. Calculate the density of the metal. [Atomic

mass of calcium 40 g/mol] 

Watch Video Solution

[NA = 6.022 × 1023  atoms/ mol]

2. Vapour pressure of benzene is 200 mm of Hg. When 2 gram of a

non-volatile solute dissolved in 78 gram benzene, benzene has

vapour pressure of 195 mm of Hg. Calculate the molar mass of the

solute. [Molar mass of benzene is 78 g/ ]

Watch Video Solution

mol− 1

https://dl.doubtnut.com/l/_tu2X4SFc7zik
https://dl.doubtnut.com/l/_U97WIHeyFOkx
https://dl.doubtnut.com/l/_8C3yRkZ8DR6I


3. Calculate the e.m.f. of the cell in which the following reaction

takes place. 

Watch Video Solution

Ni ( s ) + 2Ag +
( 0.002M )

→ Ni2 +
( 0.160M )

+ 2Ag ( s ) , Given E ∘
cell

= 1.05V

4. According to collision theory, what are the two factors that lead

to effective collisions

Watch Video Solution

5. (a) Write a note of Dialysis. 

(b) What is the effect on  and  during the process of

adsorption ? 

(c ) Give an example for heterogeneous catalysis.

Watch Video Solution

ΔH ΔS

https://dl.doubtnut.com/l/_8C3yRkZ8DR6I
https://dl.doubtnut.com/l/_VVAWeCHRIkt7
https://dl.doubtnut.com/l/_uKIxOlM4JUD2
https://dl.doubtnut.com/l/_qVzxuZgVNFc2


Watch Video Solution

6. (a) Explain  mechanism for the conversion of tertiary butyl

bromide to tertiary butyl alcohol. 

(b) Complete the following reactions : 

(i)  


(ii)  


(iii) 

Watch Video Solution

SN 1

CH3 − CH = CH2 + HI →

CH3CH2Br
AgCN

−−−−−−→
Aq Ethanol

7. How does anisole react with methyl chloride?

Watch Video Solution

https://dl.doubtnut.com/l/_qVzxuZgVNFc2
https://dl.doubtnut.com/l/_JqvRGGpvZ2Mr
https://dl.doubtnut.com/l/_ZL381Ntwz2GD


8. How is benzoyl chloride converted into benzaldehyde. Write the

equation and name the reaction.

Watch Video Solution

9. (a) Mention the I.U.P.A.C. name of . 


(b) How is Aniline prepared from nitrobenzene ? 

(c ) Give the equation for the conversion of aniline to 4-bromo

aniline.

Watch Video Solution

(CH3CH2)2 − N − CH3

10. Write a chemical reactions to elucidate 

Glucose contains five - OH groups.

Watch Video Solution

https://dl.doubtnut.com/l/_J2d0VpA0bXwR
https://dl.doubtnut.com/l/_SnkyFxLYe3QJ
https://dl.doubtnut.com/l/_z531eN9RTRgg
https://dl.doubtnut.com/l/_JdCZtgNVH43V


11. Name the monomers present in the following polymers. 

PVC

Watch Video Solution

12. Calcium metal crystallises in a face centered cubic lattice with

edge length of 0.556nm. Calculate the density of the metal. [Atomic

mass of calcium 40 g/mol] 

Watch Video Solution

[NA = 6.022 × 1023  atoms/ mol]

13. Vapour pressure of benzene is 200 mm of Hg. When 2 gram of a

non-volatile solute dissolved in 78 gram benzene, benzene has

vapour pressure of 195 mm of Hg. Calculate the molar mass of the

solute. [Molar mass of benzene is 78 g/ ]

h id l i

mol− 1

https://dl.doubtnut.com/l/_JdCZtgNVH43V
https://dl.doubtnut.com/l/_cBIECpfVGaik
https://dl.doubtnut.com/l/_WrN5JMCTjTZA


Watch Video Solution

14. Calculate the e.m.f. of the cell in which the following reaction

takes place. 

Watch Video Solution

Ni ( s ) + 2Ag +
( 0.002M )

→ Ni2 +
( 0.160M )

+ 2Ag ( s ) , Given E ∘
cell

= 1.05V

15. Derive an intergrated rate for the first order reaction.

Watch Video Solution

16. (a) Write a note of Dialysis. 

(b) What is the effect on  and  during the process of

adsorption ? 

(c ) Give an example for heterogeneous catalysis.

Watch Video Solution

ΔH ΔS

https://dl.doubtnut.com/l/_WrN5JMCTjTZA
https://dl.doubtnut.com/l/_lveJwGNVwRvm
https://dl.doubtnut.com/l/_Z65p1L5KL2s3
https://dl.doubtnut.com/l/_CYkYlKIcf4RR


Watch Video Solution

17. (a) Explain  mechanism for the conversion of tertiary butyl

bromide to tertiary butyl alcohol. 

(b) Complete the following reactions : 

(i)  


(ii)  


(iii) 

Watch Video Solution

SN 1

CH3 − CH = CH2 + HI →

CH3CH2Br
AgCN

−−−−−−→
Aq Ethanol

18. Write the mechanism of aicd catalysed dehydration of ethanol to

ethane.

Watch Video Solution

https://dl.doubtnut.com/l/_CYkYlKIcf4RR
https://dl.doubtnut.com/l/_E6KVr6LE0AMP
https://dl.doubtnut.com/l/_a5xCxAeCmlHC
https://dl.doubtnut.com/l/_XncwKDNWojqx


19. How is benzoyl chloride converted into benzaldehyde. Write the

equation and name the reaction.

Watch Video Solution

20. Write the IUPAC name of .

Watch Video Solution

(CH3)2N − CH2 − CH3

21. Write a chemical reactions to elucidate 

Glucose contains five - OH groups.

Watch Video Solution

22. Name the monomers present in the following polymers. 

PVC

https://dl.doubtnut.com/l/_XncwKDNWojqx
https://dl.doubtnut.com/l/_sbiFUlfBEvlh
https://dl.doubtnut.com/l/_PpM8lEIn1K4h
https://dl.doubtnut.com/l/_1iRKUGHFZyg2


Watch Video Solution

https://dl.doubtnut.com/l/_1iRKUGHFZyg2

